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Thlrd Semester B.E. Degree Exammatlon, Dec.09/Jan 10
‘ Data Structures wnth ‘cC’ f

‘ Time: 3 hrs. Max Marks 100
Note: Answer any FI VE full questions, selectmg
at least TWO questions fram each part.
S "PART-A
‘1 a. Given the following declarations: .=

= 50, will be treated as malpractice.

tten eg, 42+8

lsorily draw diagonal cross lines on

cq
appeal to evaluator and /or equations wri
o

2. Any revealing of identification,
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inta=35;

mtb=7;

int xp=&a;

Int xq =& Db ;

What 1s the value of each of the following expressions?
1) +ta

1) ++(*p)

i) --(%q) . . .
- iv) --b ' - ' S o o - (04 Marks)
. Explain the follemng with an example: | - - _

1)  Pointer to pointer

1) Lvalue and R value

ili) Calloc function. - H S o (09 Marks)

. Write a ‘C’ program to find the smallest element 1n an array (usmg pemter and function).
| (07 Marks)
Explain with syntax strncpy and strcat string handling functlons - (06 Marks)
. Write short notes on: - | -

' i)  Nested structures S ,

11)  Union. - ' - (08 Marks)
Explam the three file status functions available in < language o (06 Marks)
Whatis a staek"? Indicate how stack is represented in ‘C’. - . (05 Marks)
Write an algorithm to evaluate postfix expression. o - (06 Marks)
Convert each of the following infix expressmns into its postfix and prefix form -

1) (A+B)*C DSE=*F '
ii) A-B/C*DS$E S | _
iii) (A+B)* (C + D - E) * F. ' - - (09 Marks)
Write a recursive program to find the greatest common divisor (GCD) of two integers.

' (06 Marks)
Explain :
1)  Efficiency of recursion _

11} Priority queue. ' ~ (06 Marks)
Write a C program to simulate the werkmg of linear queue. Provide the following
operations: 1) msert , 11) delete ; iii) display. (08 Marks)
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PART-B

What are the adventages ancl dlsadvantages of representlng a stack or queue by a linked list?

T (04 Marks)
Write a C program to 1mplement stack operations using singly linked list. (10 Marks)
. - Write a note on noninteger and nonhomogeneous list. ~ (06 Marks)
Explain with ﬁgure circular list with a headernode. ™~ (05 Marks)

. Writea C reutlne concat ( & list 1, & list 2) that concatenates two circular singly linked lists.

(05 Marks)
Assume that first and last are external pointers to the first and last nodes ef a doubly linked

list. Write an algorithm to implement the following:
1)  Insert a node to the list at the front end.

11) Delete a node from the front end. | | (10 Marks)

Define the following (write appropriate figures)

1)  Strictly binary tree

i1) Complete binary tree

i1) Almost complete binary tree. (09 Marks)
What 1s a binary search tree? Construct a binary search tree for the fellewmg l1st of integers.
8, 13,10, 12,6, 5, 12. (06 Marks)
Write a C routine setleft (NODEPTR P, int x) which creates a node with information x, as
left son of a node pointed by P, in a right — in — threaded bmary tree _ - (05 Marks)

Write an algorithm to find the Kﬂ' clement qf a hst represented by blnary tree. Explaln the

- algorithm also. . - (05Marks)
. Construct a binary tree for the following expressions: ~ = '

) A+B-O*xE+FH/G
) G+6xNF((5+6)=*7) . (10 Marks)
Convert the following general tree shown in Fig. 8 c(i) and 8 e(11) fo a bmary tree (05 Marks)

Fig.8 c(i). Fig.8 c(ii).
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